SCHEDA RIEMPITEMPO n. 1

a) Metti in colonna e calcola:
7.296,417 + 3.037 =

3.234,78 + 9.476.983 + 0,334 =
95.419,11 - 1.649.132 =
100.078.852 - 18.040 =
22.385,89x0,3 =

26.339 x79 =

15,87 x 525,4 =

53.347 : 0,05 =

68.024 : 69 =

20.050:73 =

b) Metti in colonna e calcola con la prova:

5.476,75 + 36,656 =

740185 + 2.442.583 + 19,718 =
58.635.000 - 12.013 =

98.484,8 - 27.483,123 =
14238,32 x 2 =

40336 x225-=

1492 x 38,14 =

67.727,6 : 0,8 =

79.774 : 17 =

29.227 : 19 =




SCHEDA RIEMPITEMPO n. 2

a) Metti in colonna e calcola:
1.348.694,31 + 22.089,8 =
34.131,894 + 9.488,03 + 56.314,1 =
1.059.578 - 15.648 =

86.118 - 52.693 =

9,284 x 82 =

601,7 x 7,93 =

4635 x 1,374 =

30.756,56 : 0,2 =

88.867 : 64 =

15737 : 81 =

b) Metti in colonna e calcola con la prova:

1.239.467 + 53.885,67 =

6,182 + 8.769.502 + 76.752,9 =
12.077.050 - 456.292,23 =
503.636 - 27,953 =

3449 x 7 =

3.829 x 18 =

4517 x 6128 =

56.627,12 : 8 =

78.112 : 82 =

23.928 : 47 =




SCHEDA RIEMPITEMPO n. 3

a) Metti in colonna e calcola:

1.666.993 + 77.519 =
421.038 + 5.106.256 =
2.359.906 + 55.293 =
43.398.817 + 314,747 =
175.498 + 7.706.904 =
9.042.173 + 6.912.128 =
3.162.643 + 78.763.519 =
94.947 + 5134553 =
451.606.880 + 15.351.028 =
38.717.171 + 69.329 =

b) Metti in colonna e calcola con la prova:

14 511 x 123 =

24.745 x 145 =
12.345 x 557 =
33.493 x 237 =
53.495 x 133 =
75.098 x 799 =
92.842 x 307 =
41.105 x 603 =
61591 x 422 =
71,358 x 186 =




SCHEDA RIEMPITEMPO n. 4

a) Metti in colonna e calcola:
34.974.894,7 + 3.407,34 + 222,777 =
7.134521,14 + 1.882 + 40.954.120,3 =
164.878,55 + 4.125.623,251 =
5.325.617 + 2.344,109 =

5.2379 + 8.334.610,9 + 36,7 =
543.800,56 + 56.300.029,25 =
678.133,05 + 934.547,33 =

5.589,77 + 31.908.660,1 =
188.050,58 + 895.752,56 =

148,338 + 3.559.226,48 =

b) Metti in colonna e calcola con la prova:

15.614,6 x 24,6 =
271983,7 x 1,46 =
429469 x 1,73 =
11.624,2 x 2,58 =
93.716,4 x 52 =
15.875 x 8,65 =
95.656,8 x 1,36 =
39.024,64 x 37,3 =
1124943 x 67,1 =
21.306,3 x 5,05 =



SCHEDA RIEMPITEMPO n. 5

a) Metti in colonna e calcola:

129.903.497 - 81.720.519 =
4.189.324 - 33.960 =
50.109.609 - 8.063.918 =
607.127.000 - 2.169.716 =
38.271.376 - 1.147.536 =
19.015.404 - 678.629 =
200.917.440 - 9.428.925 =
2.737.052 - 1.348.945 =
811.000.010 - 307.229 =
123.564.753 - 8.524.226 =

b) Metti in colonna e calcola con la prova:

922.900,1 - 80,167 =
7.651.500,058 - 9.510,912 =
8.085,24 - 0,063 =
6.132.340,44 - 693.780,3 =
8.612.2435 - 267.190,71 =
4.510.903,9 - 1.672.069 =
138.786,822 - 86.697,28 =
4.117.966,838 - 158.743 4 =
2.274.588,922 - 523.620,201 =
7.003.152,334 - 23.4155 =




SCHEDA RIEMPITEMPO n. 6

a) Metti in colonna e calcola:

390.081.009 : 4 =
31.677.692 :7 =
4969.837: 5=
32.481.878 : 3 =
15.884.896 : 4 =
7.413.947 : 3 =
242.084.321:9 =
26.649.957 : 2 =
5.739.113 : 8 =
43.375.436: 5=

b) Metti in colonna e calcola

31.659: 75 =
98.836 : 99 =
81.461: 44 =
42.266 : 25 =
69.124 : 89 =
82.440: 27 =
81.640 : 24 =
23.569:89 =
78.125: 44 =
88.357:23 =




SCHEDA RIEMPITEMPO n. 7

a) Metti in colonna e calcola:

50.790: 22 =
93.349:11=
53.038 :41-=
65.108 : 23 =
82.622 : 56 =
95.166 : 95 =
27.292 : 25 =
84.498 : 15 =
44558 : 45 =
16.280: 43 =

b) Metti in colonna e calcola

2.753,828 : 6 =
30.871,07: 5=
15.371,77 : 2 =
612.063,13 : 5=
63.586,4:3 =
24516988 : 3 =
409511,28 : 8 =
124.108,506 : 4 =
91.204,8: 3=
100.860,05 : 6 =
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